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Suppose that the Silver Spring Soccer Club has a meeting of the four

club directors to decide on whether or not to cancel a scheduled

game. Then the directors each start a branch of a calling tree by

calling three families, and each of those families then calls three more

families. This process continues until all 750 families are contacted.

a. Sketch a tree graph that shows how the number of people called
grows in stages from the first calls by the club directors.

b. Make a table and a graph showing the number of calls made at
each of the first 4 stages of this calling tree.

. Wite two rules that can be used to calculate the number of calls
‘made at various stages of this calling tree—one in NOW-NEXT
form and another in “y form.

d. How many stages of the calling tree will be needed before all
750 families are contacted?
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On one rainy day, the Silver Spring Soccer Club president decides

that she will call all 750 member families herself to tell them about

cancellation of play. She figures that she can make 3 calls per minute.

a. How long will it take her to notify all families in the club?

b. Look back at your results from work on Applications Task 2 and
estimate the time it would take to inform all families of the
cancellation if that calling tree was used instead.




